> restart;

>r :=t —-> a*<sin(theta(t)),cos(theta(t))>;
ri=t— a-(sin(6(t)),cos(0(t)))

> sys_vec := m*xdiff(r(t),t,t) =" < 0, m*g> - tau(t)*r(t)/a;

m( (dtﬁ( )) cos(0(t)) — a (£6(t)) sin(a(t))) _

sys_vec i —7(t) sin(6(t)) ,
m (—a (gtz (t )) sin(0(t) — a (L0(t)) cos(e(t))) -
mg — 7(t) cos(6(t))
> sys_set := convert(sys_vec, set);

sys_set == {m <a (229@)) cos(0(t)) —a (i@(t}) sin(@(t))) =
—7(t) sin(6(t)) ,
m (—a (;;9(:5)) sin(0(t)) — a (i@(t)) cos(@(t))) =mg
—7(¢) cos(@(t))}

> solve(sys_set, \{diff(theta(t),t,t), tau(t)\}):
sys := simplify(%);

2 sin 2
sys = {jtze(t) __9 ie(t))m(t) —m <(jt€(t)> at cos(0(t))g>}

> select(has, sys, tau(t))[];

() =m ((jt@(t)) a + cos(8(t)) g)

> select(has, sys, diff(theta(t),t,t))[];

d? o) = gsin(G(t))

dt? a



